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Does the F2 block need another input?
if yes, what is the equation for this

POWERGUHL:

No

Yes, Equation = In(2) xor
Out(2) xor (output of F1 in

most significant ALU slice)

Yes, Equation = output of F1
in most significant ALU slice

Yes, Equation = Out(2) xor
(output of F1 in most
significant ALU slice)

Yes, Equation = output of F3
in most significant ALU slice
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What are the values of SRL-1(2), SRL-
(%) *?1(1), and SRL-1(0)

7OWERGUNKE

SRL-1(2) = 0, SRL-1(1)
SRL-1(0)

A(2),
a1y ©

—

f—
—
fu—

SRL-1(2) = A(1), SRL-1(1)

A(0), SRL-1(0) (=J

SRL-1(2) = 0, SRL-1(1) = 0,
SRL-1(0) = A(1

SRL-1(2) = A(1), SRL-1(1) = 0,
SRL-1(0) = 0

None of the above
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?What is the equation and value of c3

Dg]?) *
POWERGUNIT?

Equation: c3 = g2 + p2.g1 +

p2.p1.g0 + p2.p1.p0.c0, O
Value: c3 =1

Equation: c3 =g3 + p3.g2 +
p3.p2.g1 + p3.p2.p1.g0 +
p3.p2.p1.p0.c0, Value: c3 =0

Equation: c3 =g3 + p3.92 +
p3.p2.g1 + p3.p2.p1.90 +
p3.p2.p1.p0.c0, Value: c3 = 1

Equation: c3 = g2 + p2.g1 +
p2.p1.g0 + p2.p1.p0.c0,
Value: ¢3 = No enough
information
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Which functional logic block can be
(%) * ?used for block F2

?OWERGUNe2

Full Adder

input XOR gate-2

to-1 MUX-2 ©

input XNOR gate-2

Two inverters

Which functional loaic block can be



MOM.. N 7 .029%ME6:25 pm

(3 @& forms.office.com/Page (1

Two inverters

Which functional logic block can be
[} *?used for block F3

input OR gate-2
input NOR gate-2

input XOR gate-2

input AND gate-2 ©

input NAND gate-2
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Is it possible to merge the Cin and
Binv signals into one signal and name
L% | ¥ ?it Bnegate

(03 2)

No, because Cin and Binv are
different add function

Yes, because Cin and Binv are

the same for all functions

No, because Cin and Binv are
different the SRL-1 function

No, because Cin and Binv are
different the NOR function

No, because Cin and Binv are
different the subtract function
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?What is the value of RegWrite signal

POWERGUNLE ,

What is the value of the 64-bit output
?0f the "Immediate Generation" block

[E) *
(didnds 1)
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Which functional logic block can be
used for block F1 and what is the

'?ve(I F na egfﬂm ﬁﬁrﬁ” In(0

}

F1 = Full Adder, In(0) =0

F1 = Full Adder, In(0) =Cin ©Q

F1 = Full Adder, In(0) = 1

F1 = 2-to-1 MUX,, In(0) = Cin

F1 = 2-to-1 MUX, In(0) =

Which functional logic block can be
[ *?used for block F2
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What is the equation and value of P1

S one) BT 2(with-capital
7O ERSNEL S

Equation: P1 = p3.p2.p1.p0,
Value: P1 =1

Equation: P1 = p7.p6.p5.p4,
Value: P1 =1

Equation: P1 = p7.p6.p5.p4,

Value: P1 =0

Equation: P1 =al + b1, Value:
P1=0

Equation: P1 =al + b1, Value:
P1=1
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Which functional logic block can be
used for block B2? Also, where should
the dangling inputs of B2 be

P OWERSORNEL 5

B2 = OR gate, dangling inputs
of B2 = Zero and Branch

B2 = AND gate, dangling
input of B2 = Zero and (not
Branch)

B2 = 2-to-1 MUX, dangling
input of B2 = Branch and Beqi

B2 = 2-to-1 MUX, dangling
input of B2 = Zero and
(notZero)

B2 = AND gate, dangling

input of B2 = Zero and Beqi
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What is the value of the 64- bit output
7of the N edl & Ge ‘Eﬁ)ck
m 71‘: rl? T | \I]]) *

(ks 1)

all bits are zero

all bits are one

What is the value of the 64-bit ALU

(%) * ?result
fatzamy
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A tl?)‘%)i%@?? (L"Eﬂrmm]uueg CE

(a5 2)

Equation: ¢8 = GO + P0.cO,
Value: c8 =1

Equation: ¢8 = GO + P0.cO,
Value: ¢8 = No enough
information

Equation: c8 = G1 + P1.GO +
P1.P0.c0, Value: c8 = 1

Equation: c8 = G1 + P1.GO +
P1.P0.c0, Value: c8 = No
enough information

Equation: c8 = G1 + P1.GO +
; o

P1.P0.c0, Value: c8 =0
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all bits are one

e B eSS

(2 1)

Don't care

all bits are zero ©Q

all bits are one

What is the value of the Read register
L&) *7?72
(dagi 1)
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?What is the value of MemRead 3| nal

7 OVWEROUNIT

(MU

What is the value of MemtoReg
L% * ?signal
(dass 1)
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all bits are zero

all bits are one

What is the value of the Rt’:{?d register
POWERSOUNIG *72

(&atis 1)

XXXXX

00000

11111

11100
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* ?What is the value of ALUOp signal

7OWERGUNIT

(s 1)

XX

00

01

11

?What is the value of MemRead signal

) *
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?What is the equation and value of g2

Equation: g2 = a2 . b2, Value:
g2=1

Equation: g2 = a2 . b2, Value: -

g2=0

Equation: g2 =g1 + p1.g0,
Value: g2 =0

Equation: g2 =g1+p1.9g0,
Value: g2 =1

Equation: g2 = a2 + b2, Value:
g2=1
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Which of the following statements is
CORRECT? (Select multlple answers if
7 (0)\WV/(C | R @I N} [negded)
JAA/A : (i 2)

c1 is generated before s0

s4, s5, s6, and s7 are
generated in parallel at the | |
same time

c8 is the last signal to be
generated —

GO, G1, c1, c2, and c3 are

generated in parallel at the |
same time

c1,c2,c3,c5, cb, and c7 are
generated in parallel at the | |
same time
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What is the value of MemtoReg

=) A\ TPN /20 A ||:<T]_"*]* ,?-S:ignal
\YAVN/A\S I\ ‘ 1IN (dass 1)

?What is the value of RegWrite signal
[E]_'u *
(i 1)
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Which functional logic block can be
used for block B1? Also, where should
the dangll_ng _II]po[ gf B1 be connected

.'I[ g ' ' { ‘ I | :; }’ [ ) I‘ ‘ ‘ I :] * ‘?to
(cd:m.: 3)

B1 = OR gate, dangling input
of B1 = Read datal

B1 = OR gate, dangling input
of B1 = Read data2

B1 = 2-to-1 MUX, dangling ~

input of B1 = Read data2

B1 = 2-to-1 MUX, dangling
input of B1 = Read register2

B1 = 64-bit Adder, dangling
input of B1 = Sign-
Extend(Immediate)



MOM.. N 7 427%86:27 pm

(3 @& forms.office.com/Page (1

Instruction [19-15
Read L ] Read

register 1 gooq
address Instruction [24-20] P aey

Instruction regisier 2
3101 [T instruetion [11-7) Wite  Read
Instruction *| register data2
memory :
Writa

dala Registers

Instruction [31-0) 32 (i\mm\| &

control
Instruction [30,14-12] |‘ I

*?What i is th_e value of ALUSrc S|gnal

DG [T
7 ([ )]\ /¢
(WIA\VAY /(¢ i PAS | )

(cthM)
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?What is the equation and value of GO

?OWEROUNLE ,

Equation: GO = a0 . b0, Value:
GO=0

Equation: GO = g3 + p3.g2 +
p3.p2.91 + p3.p2.p1.g0 +
p3.p2.p1.p0.c0, Value: GO =1

Equation: GO =g3 + p3.g2 +
p3.p2.91 + p3.p2.p1.g0 +
p3.p2.p1.p0.c0, Value: GO =0

Equation: GO = g3 + p3.g2 +

p3.p2.91 +p3.p2.p1.90,
Value: GO = 1

Equation: GO =g3 + p3.g2 +
p3.p2.g1 + p3.p2.p1.90,
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(ddrds Z)

18]
5]
1[4
i3]
2]
i1

ALUSrc and ALUOpO

ALUSrc, Branch, and ALUOpO

ALUSrc, RegWrite, and
ALUOpPO

Branch and ALUOpO

ALUSrc and ALUOp1



